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B. Sc. (Third Year) Annual Open Book Examination, 2021
COMPUTER SCIENCE

ŸÊ≈U — ¬˝àÿ∑§ πá«U ∑§Ê ¬ÎÕ∑˜§Ô-¬ÎÕ∑˜§Ô ©UûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ Á‹πŸÊ •ÁŸflÊÿ¸ „ÒU–
Note: Each section is compulsorily written on separate answer sheet.

A-570

πá«U-• ¬˝‡Ÿ-¬òÊ — ¬˝Õ◊ / Section-A Paper : First

DATABASE MANAGEMENT SYSTEM
Maximum Marks : 40

ŸÊ≈U — ‚÷Ë ¬˝‡Ÿ •ÁŸflÊÿ¸ „Ò¥U– ‚÷Ë ¬˝‡ŸÊ¥ ∑§ •¢∑§ ‚◊ÊŸ „Ò¥U– ¬˝àÿ∑§ ¬˝‡Ÿ ∑§ ©UûÊ⁄U •Áœ∑§Ã◊ }ÆÆ ‡ÊéŒÊ¥ ◊¥ Œ¥–

Note: Attempt all questions. All questions carry equal marks. Each question must be answered in
maximum 800 words.

1. «UÊ≈UÊ’‚ Language ∑§Ê ‚◊¤ÊÊßÿó

(a) DDL

(b) DML

(c) TCL

(d) DCL

Explain Database Language :

(a) DDL

(b) DML

(c) TCL

(d) DCL

2. ©UŒÊ„U⁄UáÊ ∑§Ë ‚„UÊÿÃÊ ‚ ‚◊¤ÊÊßÿó

Explain with example :

(i) Generalization

(ii) Specialization

(iii) Strong and Weak entities

3. ‚◊¤ÊÊßÿó
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(a) Á⁄U‹‡ÊŸ‹ •‹ Ê’˝Ê

(b) ⁄U»˝§Áã‡Êÿ‹ ß¢≈Uª˝Ë≈UË

(c) ∞Ä‚≈¥U‡ÊŸ ∞fl¢ ßã≈U‡ÊŸ

Explain in detail :

(a) Relational algebra

(b) Referential integrity

(c) Extension and intension

4. Decomposition ‚ •Ê¬ ÄÿÊ ‚◊¤ÊÃ „ÒU? ÁflSÃÊ⁄U ‚ ‚◊¤ÊÊßÿ–

What do you understand by Decomposition? Explain in detail.

5. SQL ∑§ ÁflÁ÷ãŸ ¬˝∑§Ê⁄U ∑§ operator Á‹Áπÿ–

Write down different operator in SQL.

A-571

πá«U-’ ¬˝‡Ÿ-¬òÊ — ÁmÃËÿ / Section-B Paper : Second

OPERATING SYSTEM CONCEPTS
Maximum Marks : 40

ŸÊ≈U — ‚÷Ë ¬˝‡Ÿ •ÁŸflÊÿ¸ „Ò¥U– ‚÷Ë ¬˝‡ŸÊ¥ ∑§ •¢∑§ ‚◊ÊŸ „Ò¥U– ¬˝àÿ∑§ ¬˝‡Ÿ ∑§ ©UûÊ⁄U •Áœ∑§Ã◊ }ÆÆ ‡ÊéŒÊ¥ ◊¥ Œ¥–

Note: Attempt all questions. All questions carry equal marks. Each question must be answered in
maximum 800 words.

1. •ÊÚ¬⁄UÁ≈¢Uª Á‚S≈U◊ ◊¥ Á‚S≈U◊ ∑§ÊÚ‹ ∑§Ê ‚◊¤ÊÊß∞ ∞fl¢ ÁflÁ÷ãŸ ¬˝∑§Ê⁄U ∑§ Á‚S≈U◊ ∑§ÊÚ‹ ∑§ÊÒŸ-∑§ÊÒŸ ‚ „Ò¥U?

What is system call in operating system. What are the various types of system calls.

2. fcfs ∞ÀªÊÁ⁄Uâ◊ ∑§Ë ‚„UÊÿÃÊ ‚ ÁŒ∞ ª∞ ¬˝Ê‚‚‚ ∑§Ê average turn around time ôÊÊÃ ∑§⁄¥U–

Process CPU Burst Arrival time

P1 3 0

P2 1 1

P3 4 4

P4 2 3

P5 5 2
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Find average turn around time using fcfs algorithm :

Process CPU Burst Arrival time

P1 3 0

P2 1 1

P3 4 4

P4 2 3

P5 5 2

3. ¬Á¡¢ª ÄÿÊ „Ò¥U? ◊◊Ê⁄UË ◊Ÿ¡◊ã≈U ◊¥ ß‚ ∑Ò§‚ ¬˝Ê# Á∑§ÿÊ ¡ÊÃÊ „ÒU?

What is paging? How it is achieved in memory management?

4. O.S. ◊¥ ÁflÁ÷ãŸ ¬˝∑§Ê⁄U ∑§ ‚È⁄UˇÊÊ ©U¬ÊÿÊ¥ ∑§Ê ‚◊¤ÊÊßÿ–

Explain various types of security measures in O.S.

5. Linux ∑§ •ÊÁ∑¸§≈UÄø⁄U ∑§Ê ‚◊¤ÊÊßÿ–

Explain architecture of Linux.
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